7 e 12,150,000 M CEEBEE)
AE RS 9,660,000 mCEERKE)
oA 60 =
— 4= = 1] 9\ DN = o =
At A FE (BETERAERREESIT@EELA)
1.4 % ABBEHEDRIRETERE 2HiENE THE: TOBTERFT REEHEE
REHAE ER BIREEHE @"E B2z
2. FESHH HitihAEER ERBEEHKF
T 2 B8 BREL ZTHBLEER BER
3. A BB <% 54108 58 10800% WEREE EBXXEEHE &k BH
N g 1 @ H1E H1E % 2 @ %2 %2
£ = 2 HmERER A A A PR |BEREES|  GEFGS B A A PR | BEREES  EEFES B w =
(Eifi: M) LT Lk B) (A)+(B) (Hifi: M) LT Bk 8" (A +(B")
1 |BAEEILF LA ) 39.8076 9,680,000 O O 12.1975 52.0051
2 [ 7rorkIavynsey | 446153 9,660,000 O O 12.2962 56.9115 E=HL 108108 %ALIRE
3 1o 7rvmas ey ) 42.4999 9,670,000 @] O 12.2469 54.7468
4 | ERAERET () 39.8076 9,800,000 O O 11.6049 51.4125
5 (%) BABBILHILAUE 44.2307 9,660,000 @] O 12.2962 56.5269
6 (k) Ta— 421153 9,660,000 @] O 12.2962 54.4115
(Ll E68E)

geTlim = B5rm x (1— AL/ FE M)

AHLEEHE ALEASREL-ZAEED 110D 100ITHLTHEHETHD,




BZASHEEFALAX(FEHEEIL SR HEER(HZE]

B4R ABEBEBEUIRRHFRS

WIEE WHmiEn AR T & B TR i 0D &1 1 e P
No. ARRUERE | BHERURY INEHD =i At BTREE INEH® B9 %5 EHE
23 25 48 50 1.00 50 6 104

1BREFEISILIS(BR) 23 16 39 24.0000 1.00 24.0000 6.0000 39.8076
2{(BR) TILD7KIaVH LAY 23 21 44 27.3333 1.00 27.3333 6.0000 446153
(/X Dy ZaA LAY (BR) 23 19 42 25.6666 1.00 25.6666 6.0000 42.4999
4| 1EERAEEHET (B) 23 16 39 24.0000 1.00 24.0000 6.0000 39.8076
5|(#R) BAREZIHILEUE 23 16 39 31.6666 1.00 31.6666 6.0000 44.2307
6| (#k) Ta— 23 20 43 24.0000 1.00 24.0000 6.0000 42.1153

(LLE6H)




